AM3EE FEWIOKEREER—ER

Al I FRktR =7548) ©
HEFAE B i R3.5.11 R3.8.30 R3.11.2 R4.2.15
i Zl OB¥487) 1085455) 10855293 1085409
e e C 17.0 32.0 19.0 10.0
7K e C 25.0 29.0 17.0 12.0
i1 B FLOED FDEB FLDEB DEB
& 1H IS ISR IS OIS
1 ) NG} A\ A\ A\
2 e R R R HE
pH 7.5 7.2 7.4 7.3
B O D mg/ £ 0.5 1.4 BHENg 1.2
C O D mg/ £ 4.2 1.8 2.0 1.0
S S mg/ £ 2.5 1.2 2.7 BRHENg
D o mg/ £ 6.0 7.0 8.1 9.5
AZERH | MPN./100m £ 15,000 24,000 240,000 2,300
AR A mg/ £ RN g RN g RN g RHEng
> 72 mg/ £ RN g RN g RN g RHEng
B> mg/ £ RN g RN g RN g RHEng
ia) mg/ £ RN g RN g RN g RHEng
JNAf 2 0O A mg/ £ RN g RN g RN g RHEng
o = mg/ £ RN g RN g RN g REng
® E = mg/ 2 0.59 0.35 0.59 0.28
= U > mg/ 2 BRHENT RHEng 0.09 BRHENT




a4

T kit =rh518) @

REFAHE B i R3.5.11 R3.8.30 R3.11.2 R4.2.15
i A 10850293 1085555 11850553 11850053
e pie C 17.0 32.0 19.0 10.0
7K e C 21.0 27.8 16.8 11.0
iz B TDED TDED TDED TDED
& 16 AR o= o=y S
& ) 2 2 2 12U
2 ! R R R HE
p H 7.0 7.1 7.2 7.1
B O D mg/ £ 1.2 4.0 0.9 3.3
cC O D mg/ £ 12.0 4.2 3.6 3.8
S S mg/ £ 4.8 5.2 BHEng BRHENg
D o mg/ £ 7.0 7.2 6.8 9.1
KiZEEFE | MPN,/100m £ 240,000 460,000 4,600 24,000
AR A mg/ £ RN g RN g RN g RHEng
> 72 mg/ £ RN g RN g RN g RHEng
B> mg/ £ RN g RN g RN g RHEng
) mg/ £ RN g RN g RN g RHEng
JNAf 2 0O A mg/ £ RN g RN g RN g RHEng
o = mg/ £ RN g RN g RN g RHEng
T E = mg/ £ 3.89 0.40 1.03 2.39
= U > mg/ 2 0.61 0.06 0.15 0.31




a4 BHE (kiR =8 O%E) @
SAEFEAH B R3.5.11 R3.8.30 R3.11.2 R4.2.15
B Z 10855453 118559 118¥58%) 118%¥55%)
= = °C 21.0 32.0 19.0 10.0
7K = °C 18.0 27.2 16.0 12.0
fi1 & TuLED TRLEB TRLEB TRLER
& Gz AR mEER mEsER mEER
b n U N, N, N,
2 = me iiid=! iiid=! me
pH 7.2 7.0 7.3 7.0
B O D mg./” £ 3.4 0.6 ®tEng 1.4
cC O D mg./” £ 2.8 1.6 2.6 1.6
S S mg./” £ 1.5 3.3 0.8 0.7
D (0] mg./” £ 7.7 6.8 6.9 9.4
NIGEEFER MPN,”100m £ 9,300 7,500 90 430
AhRIZUA mg./ £ BmtaEng BmteEnsg BmteEng ®teEng
> 7Y mg./ £ BmtaEng BmteEnsg BmteEng ®teEng
B Y > mg./ £ BmtaEng BmteEnsg BmteEng ®teEng
e} mg./ £ BmtaEng BmteEnsg mteEng ®teEng
i 20 A mg./ £ BmtaEng BmteEnsg mteEng ®teEng
t ES mg./ £ BmtaEng BmteEng mteEng ®teEng
T B = mg./” £ 0.20 0.65 0.17 0.45
2 ) > mg./ £ ‘wEng ‘wEng ‘wEng 0.05
2 @ i mg,/ £ ‘wEng ‘wEng
JZVI1)-l mg/ £ wHEnd wHaEnd
BRI S SWBRUTORE mg,/ £ &itEng ®itEng




k= BEEF)l| (KM =38"FEHR) @
HEFAE B i R3.5.11 R3.8.30 R3.11.2 R4.2.15
i A 10851853 1185109 1185259 1185159
e pie C 18.0 32.0 19.0 10.0
7K e C 22.8 35.4 19.0 11.0
iz B TDED FDEB FDEB TDED
& 16 IS WEE MR IS
I ) RU A\ 2 12U
2 ! R R R HE
pH 9.0 9.8 9.7 9.3
B O D mg/ £ 1.1 3.9 BHEng 3.1
C O D mg/ £ 15.0 3.2 7.5 4.4
S S mg/ £ 3.3 5.3 7.0 2.3
D o mg/ £ 7.2 5.8 9.1 11.2
KiZEEFE | MPN,/100m £ 9,300 400 230 2,100
AR A mg/ £ RN g RN g RN g RHEng
> 72 mg/ £ RN g RN g RN g RHEng
B> mg/ £ RN g RN g RN g RHEng
) mg/ £ RN g RN g RN g RHEng
JNAf 2 0O A mg/ £ RN g RN g RN g RHEng
o = mg/ £ RN g RN g RN g RHEng
T E = mg/ £ 0.56 0.71 1.44 0.73
= U > mg/ 2 0.14 RN g 0.54 0.23




k= FF)II (FoKibR = 1EEMILIEE14748H15%) ©

HEFAE B i R3.5.11 R3.8.30 R3.11.2 R4.2.15

i A 10853093 1185359 1185409 1185309

e pie C 20.0 32.0 19.0 10.0

7K e C 19.2 28.1 18.5 12.0

i1 B FLOED FDEB FDEB HDEB

& 16 MR W MR MR

I ) 2 2 2 2

2 ! R R R HE
pH 7.1 7.5 7.9 7.9

B O D mg/ £ 8.4 7.5 BHEng 5.3

C O D mg/ £ 18.0 5.0 9.5 6.4

S S mg/ £ 2.7 6.2 2.0 3.5

D o mg/ £ 7.6 6.2 6.5 8.1

KRR | MPN./100m £ 9,300 24,000 2,400 1,500

AR A mg/ £ RN g RN g RN g RHEng

> 7Y mg/ £ RN g RN g RN g RHEng

B> mg/ £ RN g RN g RN g RHEng
) mg/ £ RN g RN g RN g RHEng

Nl 20 A mg/ £ RN g RN g RN g RHEng

o = mg/ £ RN g RN g RN g RHEng

T E = mg/ £ 0.35 0.73 0.54 0.59

= U > mg/ 2 BRHENT BRHENT RHEng 0.06




Al )l (Fokithm = B0 ©
HEFAE B i R3.5.11 R3.8.30 R3.11.2 R4.2.15
i A 11852090 128525%) 128555%) 1285369
e pie C 22.0 32.0 19.0 10.0
7K e C 23.5 27.2 16.5 9.0
i1 B FLOED FDEB FDEB HDEB
& 16 IS IS IS IS
I ) RU A\ A\ 12U
2 ! R R R HE
pH 7.8 7.9 7.8 7.7
B O D mg/ £ 1.4 2.5 BHEng BHENg
C O D mg/ £ 2.8 2.8 1.4 2.7
S S mg/ £ 1.0 3.8 BHEng 3.0
D o mg/ £ 8.0 7.1 7.9 9.5
KRR | MPN./100m £ 7,500 46,000 930 2,300
AR A mg/ £ RN g RN g RN g RHEng
> 72 mg/ £ RN g RN g RN g RHEng
B> mg/ £ RN g RN g RN g RHEng
) mg/ £ RN g RN g RN g RHEng
Nl 20 A mg/ £ RN g RN g RN g RHEng
o = mg/ £ RN g RN g RN g RHEng
T E = mg/ £ 0.76 0.99 1.11 0.62
= U > mg/ 2 BN g 0.06 BRHENT 0.07




